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I. Multiple Choices( 50 Points)
Please fill your answers in below blanks.
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1) An outward shift in the labor supply curve implies that

A. employers are now looking to hire more workers at any given wage.

B. employers are now looking to hire more workers if the wage increases.

C. employers are now looking to hire fewer workers regardless of the wage.

D. demand for the firm’s output likely fell.

E. more workers are now more willing to work at any given wage.
2) How would imposing a minimum wage above the market clearing wage in a competitive labor market affect employment?

A. It would increase employment as previously unemployed workers would be more encouraged to find a job. 

B. It would increase employment because a higher minimum wage would create more jobs for low-skilled workers.

C. It would increase employment as firms would illegally hire workers below the original competitive wage.

D. It would not affect employment as workers are non-responsive to low wages.

E. It would decrease employment as some workers who are willing to work at the lower competitive wage will no longer be able to find work.
3) What is implied when the wage-schooling profile is drawn as a concave function?

A. The marginal return to schooling falls as years of schooling increases.

B. The marginal return to schooling increases as years of schooling increases.

C. Average wages fall as years of schooling increases.

D. The cost of schooling increases, but at a decreasing rate, as years of schooling increases.

E. The cost of schooling decreases, but at an increasing rate, as years of schooling increases.
4) What is the difference between normative and positive economics?

A. Normative economics concerns the how and why of economic activity while positive economics concerns what should be.

B. Positive economics concerns what is while normative economics concerns what should be.

C. Both concern the how and why of economic activity while only positive economics also concerns what should be.

D. Neither deals with the how and why of economic activity, but normative economics concerns what should be.

E. Positive economics is used in Microeconomics while normative economics is used in Macroeconomics.
5) What is an example of the scale effect? 

A. Workers choose to provide more hours of labor when the wage rate decreases.

B. The firm expands output when production costs fall.

C. The firm expands output when production costs increase.

D. The firm hires more labor when the wage falls because labor has become relatively cheaper compared to the price of other factors of production.

E. The firm hires less labor when the wage falls because labor has become relatively cheaper compared to the price of other factors of production.
6) Which is a general feature of a standard cobweb model?

A. A perfectly discriminating monopsonist.

B. Capital is fixed in the short run.

C. Wages and employment levels adjust slowly over time.

D. Payroll taxes create a tax wedge, which in turn increases overall employment levels.

E. Real wages increase steadily.
7) How does a profit-maximizing firm that is operating in a competitive labor market respond to an increase in the wage rate? 

A. The firm will demand less capital due to the substitution effect.

B. The firm will demand more labor due to the substitution effect.
C. The firm will produce less output due to the scale effect.
D. The firm will demand more capital due to the scale effect.
E. The firm will demand more labor due to the scale effect.

8) How would imposing a minimum wage above the market clearing wage affect employment in a competitive labor market?
A. Employment would increase as previously unemployed workers would be more encouraged to find a job.
B. Employment would increase because a higher minimum wage would create more jobs for low-skilled workers.
C. Employment would increase as firms would illegally hire workers below the original competitive wage.
D. Employment would be unchanged as workers are non-responsive to low wages.

E. Employment would decrease as some workers who are willing to work at the lower competitive wage would no longer be able to find work.

9) Which of the following does not describe a perfectly discriminating monopsonist?

A. The firm hires different workers at different wages.

B. The firm hires workers to the point where the labor supply curve intersects the firm's labor demand curve.

C. The firm's marginal cost of labor equals the labor supply curve faced by the firm.

D. The firm uses fewer hours of labor than it would if it were in a competitive market.

E. The wage-labor outcome is efficient.

10) Compared to the labor market outcome when there are no payroll taxes, imposing a payroll tax on labor will typically result in: 

A. Firms paying a higher wage.

B. Workers receiving a lower wage net of taxes.

C. A decrease in overall employment.

D. An increase in dead weight loss.

E. All of the above.
II. True and False (30 points)
Respond to each statement True, False or Uncertain and then justify your response. The justification of your response is the most important part of your answer.
1) The short-run labor demand curve is less elastic relative to the long-run labor demand curve because firms are better able to substitute capital for labor in the long run compared to the short run.
2) The increase in the price of capital will cause the firm to reduce its (long-run) demand for labor if the scale effect is stronger than the substitution effect.
3) If leisure is a normal good, and increase in the price of goods purchases in the marketplace makes a worker to increase hours of work.
III.  Problems(20 points)
1) Suppose the government were to subsidize the wages of all women in the population by paying their employers 50 cents for every hour they worked. What would be the effect on the wage rate women received? What would be the effect on the net wage employers paid? Please explain your answer graphically. (The net wage would be the wage women received less 50 cents.)[image: image1.png]
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